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4.4 Inverse Functions 
 

𝑓(𝑥) = (𝑥 + 2)3 + 3 

 
 
 
 
 
 

𝑓(𝑥) = −2√𝑥 − 3 − 2 

 
     
 

 
Does the function have an inverse? 
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x 𝑓−1(𝑥) 
  
  
  
  

 

 

𝒇(𝒙) 𝒇(𝒙)−𝟏 

DOMAIN: DOMAIN: 

RANGE: RANGE: 

 

x 𝑓(𝑥)  
-2 5 
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NOTES 

A one-to-one function passes the VLT and HLT. 
1-1 MAPPING 1-1 Graph 

 

  
 

PROVE 2 FUNCTIONS ARE INVERSES! 
 
 

Are 𝑓(𝑥) = 2
𝑥+3  and 𝑔(𝑥) = 2

𝑥 − 3 inverses? 
 
 
 
 
 
 
 
 
 

 
BRING THE PAIN 
          𝑦 = 2𝑥−3

𝑥+4  
 

 
 
 
 
 

 
 

 

SUMMARY: 
 

 

 

 

 
Now, 

summarize 
your notes 

here! 


